2-42 2B 5

CR I EI m 0 2019581 BEE
20164EfE 20174EE 20184E
HERE BER AL TR (K1) = (v BTPEEHR s B BTPTEEHR s B BTPTEEHR BB =3
(3%2) > (3%2) > (3%2) >
& + 11 2 13 5 14 5
s s h
= e X B+ (G252) 2 1 2 0 4 0
- - B L 18 12 19 8 26 15
B X 1t (GB58) 12 1 11 0 10 0
e, s & + 9 6 5 2 6 4
o RXF XF L (25) 2 0 1 0 1 0
e B e g = 26 9 22 8 23 | 201 FEEAEENDS
(BRRZEED)| TXT75T B+ (272) 18 1 18 1 20 0| FRERILHLEE
o o o & + 5 5 2 1 2 2
MBS B X Bt (21%) 0 0 0 0 1 0
—— —— B =+ 12 11 7 6 11 10
i il Bt (212) 12 1 12 2 11 2
E B A pi g wmy| BT 20 " * 30 2 2
& + 11 10 11 9 15 12
EF& 31t EFE 1t EFE 1t B EE) 6 3 7 3 3 1
e _— _— . 27 21 22 14 29 16
e s s Bt (212) 15 0 16 2 16 1
s, b g s & < 9 6 6 4 9 5
i hE ek Bt (212) 3 0 4 0 4 0
. . B =+ 5 1 2 1 1 1
Srh N
_—- At A Bt (212) 9 1 6 1 5 3
«a
ERBUARE ERBUEE & = 6 1 7 0 12 8
P A A g =+ 14 8 12 7 13 9
& R R Bt (212) 12 0 12 0 10 0
. - 3
fEapes fEapes 1 Eiﬂ 40 30 38 29 40 28
R _ Bt (GRFE) 9 1 8 1 9 0
U7 BEF B+ 9 1 1 1 0 0| 2013 FEELYEEFL
THAUE XY YT THAUE ~ = i
e J e . g £ 0 0 0 0 0 0 =Ll "
Bk =2 Bk Bk = e e . m m - ) 2012FEFLYEEELE
IRiE IRiE IRiE - =
2R AR 2R AR 2% AR & * 0 0 0 0 0 0 2012 ELYHREL
Fr)7 )7 )7
FHA % FHA% FHA % B = '8 '8 10 1 21 '8
. . & + 43 23 27 8 22 16
N =h N =h
I ST AABES AARBRS Et (GR18) 62 5 48 9 41 5
a YRTAF YRTAF & =+ 4 3 8 1 20164 fERTEE
T4 EF42 B+ (3252) 4 0 < Briax
———N
,wifjf—_’;_F Rl & = 13 13 9 8 11 9 20154 FEEREES
N s g =+ 32 29 35 30 55 50
BT ¥ B+ GRiE) 3 1 2 0 1 1
MEILZE- o ,..q B =+ 30 28 21 19 20 19
S AL T¥/ BL¥ Bt (25 1 0 1 1 1 0
ERIE- T & =+ 46 46 32 32 35 32
BEXEFIF N E+ (5818) 2 0 2 0 2 0
IFHREFIE- ,..q B =+ 30 29 26 25 24 23
(I%%im IGRERIS ¥ B+ (218) 0 0 0 0 0 0
Fara
=N T 24 ih & + i kL =
sRrs ¥ B+ (218) 1 0 0 0 0 o| LIFELYEREL
DATLEBIE & = 44 41 23 20 43 39| 2016FEEAFEEMND
(VARTLI¥%EE T - VAT LEIRICEME
) Bt (GR%8) 0 0 1 2 1 1 ]
& + 9 9 16 16 26 25
s 4l Db, ith P = 4
E@eeT | EWRTELE sy 0 0 0 0 0 0
a0 g a0 gl - B =+ 20 20 32 26 43 39
IEHRFl=F IEHRFl=F H=x B (B = 5 ] = = 5
o . & + 55 43 61 49 68 52
_Re 5 B+ GRiE) 8 0 7 2 5 0
THAY ATHIRE T & =+ 25 23 15 11 19 17
I THAUIE E+ GEFE) 4 1 7 4 3 0
AT Ls T B =+ 13 12 13 11 12 10
THAY N 8+ (812 1 0 2 0 2 0
XIET FEHE(648) L.
s B s Bttt 2 & =* 16 16 7 5 6 5}%;?&6@%&%@
AE#E Z RUN=3E,
BRI = R PRI R & * 15 14 16 16 16 16
ARIfEHE ABIEHE T E+ (GE18) 9 3 10 2 9 0
ol ol Bk & * 102 42 98 54 75 48
BRAlE BusRAlE BURE . FflT Lt (G8%8) 31 1 37 3 32 4
AR—YEERZE AR—VEEE & = 6 5 9 8 2016 FEERAER
ETE proti ] EFE LT (ERME) =1 ) A= 21 16 26 18 27 24
1INy (REEEEL RE oy 20164 E &Y GMBAL A
fIR—aegh| RS A EmIsL SFBFAL 60 55 72 67 69 64 T
TAUR
Thorme SEHEL oAl - - - - - -| 2015FEEXYEEELL

X1 AZFEEFICIVRMBUNERLGDGEEEN(R5Y22) ITRYI>TREEL TS,
X2 METFPEEHIMICIE. REESABRRICEITAET FEAREFERETLALTLS,

[(BRXEL]FMREER

FHA

20184 &

X %

E2in
[=]

=

FESR S

HhIE =

EFRE

BEF

% F

BURS

%

ik
=F

BrEF

EamE

I %

F i (AB#R)

F i (EREAS)

BRF

BRF

s
A

[m=]

it




